THSFEEETAEMER (FWMEATILIUHERO

ErEO— .
BT DPT-IPV DPT DT 1PV FRL A« L A/B MR B v-g%m = 'J;fgfﬁfm KiE n’;i’gg BRIFF% | n%
* 1 * 2 * 1 * 2 * 1 * 2 * 1 * 2 * 1 * 2 * 1 * 2 * 1 * 2
RERT
FFR | BFR | BFR | BFER | BEFET | SFER | mFE | BFR | BFRT | MFER | mFEE | MFER | BFR | mER
mATsH 4,103 3,993 3,993 3,993 3,168 3,993 3,993
3,993 4,103 3,993 4,103 3,993 4,103 3,993 4,103 3,993 4,103 3,993 4,103 3,993 4,103
BFRD | BFR | BFE | PP | BEFAT | MFER | mFE | PR | REFRT | MFER | mFEE | MEER | BFE | mFER
KRR 4,103 3,993 3,993 3,993 3,168 3,993 3,993
3,993 4,103 3,993 4,103 3,993 4,103 3,993 4,103 3,993 4,103 3,993 4,103 3,993 4,103
TFRI | MFER | BFEA | PR | ER | MFER | mFEe | FER | MFER | MFER | mEe | MFER | BFR | mER
K LI ET 4,103 | 3,993 | 3,993 | 3,993 | 3,168 | 3,993 | 3,993
3,993 4,103 3,993 4,103 3,993 4,103 3,993 4,103 3,993 4,103 3,993 4,103 3,993 4,103
Fam
WilE T
AgLEr | 3,993 3,993 3,993 3,993 3,993 3,993 3,993 3,993 | 3,993 | 3,993 | 3,993 | 3,168 | 3,993 | 3,993
7 6N Ak 76N At 7 iR6NAXG 76N AN L
J\I&TH 3,993 3,993 3,993 3,993 3,993 3,168 3,993 3,993 3,993 3,168 3,993 3,993
3,993 3,168 3,993 3,168
WL VEES ] 76N AL VA NZES ] 76N AN L
=mE | 3,993 3,993 3,993 3,993 3,993 3,168 | 3,993 | 3,993 | 3,993 | 3,168 | 3,993 | 3,993
3,993 3,168 3,993 3,168
155 288 7R 7% L L
HFHET 3,993 3,993 3,993 3,993 3,993 3,168 | 3,993 | 3,993 | 3,993 | 3,168 | 3,993 | 3,993
3,993 3,168 3,993 3,168
7 6N A 76N AL E 7 meN AXKE 7i6nAM L
+amEE | 3,993 3,993 3,993 3,993 3,993 3,168 | 3,993 | 3,993 | 3,993 | 3,168 | 3,993 | 3,993
3,993 3,168 3,993 3,168
6 meA | 6L | 6K | 6L | 6K | 6L | 6mKm| 6 L| 6mKE| 6%AL| 6mKR| 6 M L[ 6mKE| 6 UL
A 3,168 3,993 3,993 3,993 3,168 3,993 3,993
3,993 3,168 3,993 3,168 3,993 3,168 3,993 3,168 3,993 3,168 3,993 3,168 3,993 3,168
SEET 3,993 3,993 3,993 3,993 3,993 3,993 3,993 3,168 | 3,993 | 3,993 | 3,993 | 3,168 | 3,993 | 3,993
FSRET 3,993 3,993 3,993 3,993 3,993 3,993 3,993 3,168 | 3,993 | 3,993 | 3,993 | 3,168 | 3,993 | 3,993




THSEEEETAEMR (BHEAVIILIVHER

Eb/teo— N BHEA |
BT DPT-IPV DPT DT IPV LA BLA BIR MR B A 25 v-g%m (= IR KE | paam | BEF% a4
* 1 * 2 * 1 * 2 * 1 * 2 * 1 * 2 * 1 * 2 * 1 * 2 * 1 * 2
FHEERT 3,993 3,993 3,993 3,993 3,993 3,993 3,993 3,168 3,993 3,993 3,993 3,168 3,993 3,993
B LAt 3,993 3,993 3,993 3,993 3,993 3,993 3,993 3,168 3,993 3,993 3,993 3,168 3,993 3,993
&M@ 3,795 3,795 3,795 3,795 3,795 3,795 3,795 3,795 | 3,795 | 3,795 | 3,795 | 2,970 | 3,795 | 3,795
BT 3,795 3,795 3,795 3,795 3,795 3,795 3,795 3,795 | 3,795 | 3,795 | 3,795 | 2,970 | 3,795 | 3,795
=FREr | 3,795 3,795 3,795 3,795 3,795 3,795 3,795 3,795 | 3,795 | 3,795 | 3,795 | 2,970 | 3,795 | 3,795
s | 3,795 3,795 3,795 3,795 3,795 3,795 3,795 3,795 | 3,795 | 3,795 | 3,795 | 2,970 | 3,795 | 3,795
T 3,795 3,795 3,795 3,795 3,795 3,795 3,795 3,795 | 3,795 | 3,795 | 3,795 | 2,970 | 3,795 | 3,795
mEn 3,795 3,795 3,795 3,795 3,795 3,795 3,795 | 3,795 | 3,795 | 3,795 | 2,970 | 3,795 | 3,795
1HA 2HA 6 A | 6 AL
=i 3,795 3,795 3,795 3,795 3,795 2,970 | 3,795 | 3,795 | 3,795 | 2,970 | 3,795 | 3,795
3,795 2,970 3,795 2,970
158 258 6 kR | 6 AL
FIRET 3,795 3,795 3,795 3,795 3,795 2,970 | 3,795 | 3,795 | 3,795 | 2,970 | 3,795 | 3,795
3,795 2,970 3,795 2,970
) 158 25 6 ki | 6 L
Exgsmr | 3,795 3,795 3,795 3,795 3,795 2,970 | 3,795 | 3,795 | 3,795 | 2,970 | 3,795 | 3,795
3,795 2,970 3,795 2,970
=fem | 3,795 3,795 3,795 3,795 3,795 3,795 3,795 3,795 | 3,795 | 3,795 | 3,795 | 2,970 | 3,795 | 3,795




